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J-313
B.Com. (Part-II) (Old Course)
Examination, 2021
COMMERCE
Paper - |
(Business Statistics)
Time Allowed : Three Hours
Maximum Marks : 75
Minimum Pass Marks : 25

TN T I & IR Qlford| YD SHE 9 Uh T

AT A 1 T g &3S T B
Attempt all the five questions. One question from
each unit is compulsory. All questions carry equal
marks.

FBTS - | / Unit - |
3MdBel & e W 3N FIT FHeId & ? e 3ridet

& FUEY @l fafir Al @ W difael 15

J'3 1 3 PITIOI

(2)

What do you understand by collection of data ?
Explain the various methods of collecting primary
data.

32|t / Or

=7 3ripel | THR AT ST HITSTE -

il (Tudi H)  HIIGRI DI HEA

48 ¥ HY 5
56 I HY 12
48-64 29

64 T s 31
72-80 8

80 oI 31ferd 19
88 eI 31ferd 5
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(3)

Calculate arithmetic mean from the following data :

Wages (in Rs.) No. of Workers

Less than 48 5
Less than 56 12
48-64 29
64 and above 31
72-80 8
80 and above 19
88 and above 5
3@BTS - 11 / Unit - I

v faae & o1 ST € P 596 PraN g ? 15
What is the meaning of standard deviation ? What

are its merits and demerits ?

J'3 1 3 PITIOI

Q. 3.
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(4)

31ar / Or
=1 stidsl & @t R & fowwar s s

DI :
3PH (I HH) 10 20 30 40 50 60
B 5 15 30 50 80 100

From the following data, find Karl Pearson's
coefficient of skewness :

Marks (lessthan) : 10 20 30 40 50 60
Students : 5 15 30 50 80 100

g&1s - Il / Unit - 111

EHd TG A MU TN FHA © P 3D O ad
it @ diéra fgaTe il 15
What do you understand by coefficient of

correlation ? Discuss briefly its merits and limitations.



(5)
314ar / Or
PIfc-3R fafér gRT Fewaer oTich Fd HIToTC :
x : 15 14 25 14 14 20 22
y : 25 12 18 25 40 10 7

Find out the coefficient of correlation by the method

of rank differences :

X : 15 14 25 14 14 20 22
y : 25 12 18 25 40 10 7
gBTs - IV / Unit - IV

Q. 4. -9 fHT FEd @ ? 396 PH-0F I TE JuCh
g7 15
What is a time-series ? What are its main
components ?
31adar / Or
I aut B 3id BEd BN IR AFGR Bdid
frdere sa difoe :

J'3 1 3 PITIOI
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a9 : 2009 2010 2011 2012 2013 2014 2015
DHEd: 14 16 18 19 20 27 26

Calculate price index by taking the averge price of

seven years as base :

Year : 2009 2010 2011 2012 2013 2014 2015
Price : 14 16 18 19 20 27 26

g@BTS - V / Unit -V

“HHT” qAT WO Wl B 3ATER0T e R
Il 15
Explain the terms 'Permutation' and 'Combination’
with example.

31ar / Or

6 URA™T 3R 4 3MRET § F 5 I B Th HHES
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(7)

Out of 6 Indians and 4 Americans, a committee of
five is to be constituted. Find the probability that

there are exactly two Indians in it.

J-313 100



Printed Pages — 7

JN-313

B.Com. (Part-II) (New Course)
Examination, 2021
COMMERCE
Group - llI
Paper - |
(Business Statistics)

Time Allowed : Three Hours
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Note : Attempt all the five questions. One question from
each unit is compulsory. All questions carry equal

marks.

$B15—I / Unit-I

Q1. I I T I §? Fd & YHRI B JuiA

FifsTe| 15

JN'313 PITIOI

(2)

What is meant by data ? Discuss their main
types.
31@a1/OR

qRrs®, Aad! aAT A A DI -

IdT : 35 7 10 13 15 20 25 30
& : 2 5 10 15 30 35 42 47 50

Calculate mode, median and mean :

Below : 3 5 7 10 13 15 20 25 30
Number : 2 5 10 15 30 35 42 47 50

o111 / Unit-I1
Q. 2. = wHe ¥ WH fGgem Jur 6@ one 5
oIfe : 15
3G (@ ) :5-7 8-10 11-13 14-16 17-19

smafy 7 12 19 10 2

Find standard deviation and its coefficient of the

following data :
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(3)
Age (inyears) : 5-7 8-10 11-13 14-16 17-19
Frequency : 7 12 19 10 2

311@a1/OR

e siwel 9§ @ Tdew @ fawwar qone

IR&ica DI :

HET :26-50 16-25 10-15 7-9 5-6 4 3 2 1
amgfa ;5 8 11 6 8 4431

Calculate Karl Pearson's coefficient of skewness

from the following data :

Class :26-50 16-25 10-15 7-9 5-6 4 3 2 1
Frequency : 5 8 11 6 8 4431

$BR—I1I / Unit-I1I

Q. 3. A X @Y & Fe " F foged e

TPR &l FEdEE ONd I Dot : 15
X: -4 -3 -2 1012 3 4
Y : 3 3 40 412 -2 -1

JN'313 PITIOI

(4)

The deviation from their means of two series X

and Y are respectively as given below. Find out

correlation coefficient :

X: 4 -3 -2 -1012 3 4
Y : 3 3 40 412 -2 1

311a1/OR

F el ¥ =Eae ot (s grr gdoms

JGRUT B S PITSTE -

Obtain two regression equations by the method

of least square from the following data :

X 8 6 4 7 5
y 9 8 5 6 2
JN-313



(3)

gB—IV / Unit-IV
Q. 4. = 3idel & 1991 W siafera sigen s fdens

Sd HIfTe : 15

ay  : 1991 1992 1993 1994 1995 1996
HEd - 240 300 288 360 480 420

Calculate chain base Index Numbers Chained to

1991 from the following data :

Year : 1991 1992 1993 1994 1995 1996
Price : 240 300 288 360 480 420

372191/OR
= sripel ¥ g g & Raow RS i
JAT IR eI T DitoTe :

a¥ : 1997 1998 1999 2000 2001
™™ : 5 7 4 9 12

Fit a parabola of the second degree to the

following data and find the trend values :

JN'313 PITIOI

(6)
Year : 1997 1998 1999 2000 2001
Value : 5 7 4 9 12

BV / Unit-V
Q. 5. IEERIG @AM F1 8 ? 3 AiRmer faftal

o IR e S b Fewiie gagEE #
[EES BNl 2l 15
What is business forecasting ? Explain those
slatistical methods which help is business
forecasting.
31ar/OR
(a) @ & IR W o Aifta foe aR-aRt &
G ST &1 T MR & {6 aRi sadb g@n P
Four cards are drawn successively at
random without replacement. What is the
probability that four will be Aces ?
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(b) oI 'PROBABILITY' § ¥ UF 31bal 31&R
IqGgIed T F AT 7T &1 IFP TR 8W D FT
mfddar & ?

A single letter is selected at random from the
word 'PROBABILITY' what is the probability

that it is a vowel ?

JN-313 100
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